Name Cumulative Test @
Also take Power-Up Test 23

Score

(91). Tickets for the movie cost 4 155) Compfl)ete the equivalent fraction:
$7.25 for adults and $6.50 for 3 :

students. Gailyn bought tickets & i
for two adults and four students.
Altogether, how much did Gailyn 1
pay?
(1063). What fraction name for 1 has a
denominator of 7?

2. Estimate the area of this triangle.
™ Each small square represents one
square centimeter. 7. Draw a picture to show that 1 and

(/09). 5 i\
% are equivalent fractions.

(587). The triathlete could swim 240
meters in 3 minutes. At the same
average speed, how far could the

3. A nickel is what percent of a triathlete swim in 6 minutes?

(Inv. 5)
“” dollar?

9. The campers bought 2 sleeping

©3

4. This rectangle is 5 cm long and ; bags for $39.99 each and a lantern

" 4 cm wide. Half the rectangle is for $12'?9' Sales '.cax was'$5.24.
shaded. What is the area of the ey § " etems Wihig
shaded part of the rectangle? Bl WUl ShElos

should they have gotten back?
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(114)

Eighty people stood in line. Six
of them could ride in each van.

If there were only nine vans, how
many people did not get a ride?

13.76 + 4.38 + 19.1

96.42 — 47.8
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Cumulative Test @

16. $1.25 X 16

(113)

17. $36.24 +~ 3

(80)

18. 201
©5) 3

19. 20)640

(110)

20. Reduce:

(112)
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